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A hat costs $10.95 and a T-shirt
costs $14.20. How much change
will you receive if you pay for both
items with a $50 bill?

Find the area of a square with a
side length of 3.8.

The grocery store is selling bananas
for $0.35 per pound. If Tanner pays
$1.26 for bananas, how many
pounds did he buy?

Pears cost $0.92 per pound and
apples cost $1.10 per pound. Mr.
Bonilla bought 3.75 pounds of
pears and 2.1 pounds of apples.
How much did he pay for the pears
and apples?
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A hat costs $10.95 and a T-shirt
costs $14.20. How much change
will you receive if you pay for both
items with a $50 bill?

Find the area of a square with a

side length of 3.8. 3.8
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The grocery store is selling bananas
for $0.35 per pound. If Tanner pays
$1.26 for bananas, how many
pounds did he buy?

Pears cost $0.92 per pound and
apples cost $1.10 per pound. Mr.
Bonilla bought 3.75 pounds of
pears and 2.1 pounds of apples.
How much did he pay for the pears
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